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wm & B W BRERE (v 7 L) A Jui/kg SR
BELY | EBE | BEEP D || 134 137 =+ RE

Bt ™ A4/ R4.4.19 AR e 136 140 R5.2.13
Bt ™ iy | R4.4.29 F X e 30.3 30 R5.2.13
BIfE™ Yx/)JT% R4.5.19 F R & 142 140 R5.2.16
= [ ET iy A5 R4.6.2 F R 2.34 87.3 90 R4.9.1
= [ HT il NP5 R4.7.14 AR 1.88 93 95 R4.9.6
S0 A4/ R4.6.14 AR e 12.4 12 R4.8.8
SI&™ iy A5 R4.6.26 A X & 18 18 R4.8.10
EBH | —->>h | RA1028 | A% R TR R | R5.2.17
= I8 Yx /)T R4.5.27 A R e 83.9 84 R4.9.5
S0 X /)T R4.6.17 F X e 73.1 73 R4.8.12
ZHH Yx /7T R4.9.9 F X & 29.9 30 R5.2.16
R A ) R4.5.8 #F X T e e | R4.8.12

R A/ R4.9.21 |# X i Nt &H | Rb.2.14

R T A/ R4.9.16 |#+ X i N &H | Rb.2.14

BEm | —RrYh R45.8 |FX G G @t | R4.8.12
RERE ™ ZHRUTVA R4.9.2 TR IR R H iR | R5.2.14
= [ 1/ R4.6.11 | XX 2.05 97.8 100 | Rb5.2.24
= [ 1/ R4.9.17 | XX AR H R H g | Rb.2.17
= [ R R4.6.11 |F X IR 38.7 39| R5.2.10
= [ R R4.9.17 |F X IR R H g | Rb.2.17
Elm | VX /7% R4525 |#X IR H 45.1 45| Rb5.2.16
T{ZHEHHT 1/ R4.9.3 X R R H 17.7 18| Rb5.2.13
T{ZHHET A4/ R4.10.20 | # X 1.7 99.6 100 | Rb5.2.17
TIZHE| Zk>Th R4.9.2 X X IR 29.6 30| Rb5.2.13

EE2O] () R49.21 |# X At H T H e | R5.2.13

A SRV H R4.6.16 | XX NG R H & | R4.8.6

ZEHT ZHRUTVA R4.2.5 TR IR 12.1 12| R4.8.13
RRElT | YR/ T0< R4.8.21 | XX IR 23.1 23| Rb5.2.10
Pkl | YR/ TR R4.9.11 | XX IR H 83.1 83| Rb5.2.15
Pkl | YR/ TTY R4.9.15 |# X R H 39.5 40| Rb5.2.14
=EFIRAT A4/ R4.421 | XX IR 155 160 R4.8.8
=EFIRAT A4/ R4.9.21 |#F X IR 36.2 36| Rb5.2.13
REFIRET 1/ R4.9.21 |# X IR H 38.3 38| Rb.2.17
REFRAET| ZFKTh R4.421 | XX R H R H R H R4.8.6
BRI | —Hh>Ph R4.9.13 | XX IR 32.9 33| Rb.2.17
REFRAET | VX /70~ R4.6.26 |F X IR 44.1 44 R5.2.9
RHERE | VX /70< R4.7.1 #F X 1.52 81 83| Rb5.2.18
RHRE | VX /70< R4.7.3 I R H 146 150 R5.2.9
REFRAET | VX /70~ R4.7.28 | XX IR 56.1 56 | Rb5.2.13
REFRAET | VX /70~ R4.8.18 |F X IR 40.4 40| Rb5.2.13
EHRE | VX /70~< R4.9.14 |# X IR H 79.9 80| Rb5.2.20
RHRE | VX /70< R4.9.4 X R R H 36.2 36| Rb.2.14
REFRAET | VX /70~ R4.9.25 | XX IR 50.5 51| Rb.2.14
REFRAET | VX /70~ R4.9.27 | XX IR 21.4 21| Rb.2.14

RN 1/ R4.7.4 F R IR H 160 160 | Rb5.2.14
FN 1/ R4.10.7 |# X R H 19.2 19| R5.2.16

EEN | — RO h R46.11 |[#X T 11.7 12| R5.2.14
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BEE | BhE | WEESD EE| 134 137 = REH
BN il NS R4.9.18 XX N 8.3 8.3 R5.2.17
EAY S V= Ay Ry A4 R4.9.14 X X 5.28 114 120 R5.2.14
HEFEHE| VX /T~ R4.4.24 XX 13.5 281 290 R4.8.6
HEEWE | VXTIV R4.4.27 F X N 313 310 R4.8.6
HEEWE | VXTIV R4.6.3 F X 2.61 90 93 R4.9.2
HEFEHE| VX /T~ R4.6.13 F X g H 251 250 R4.8.6
WESEMT | VX TTT R4.7.3 F X g H 73.6 T4 R4.8.12
HEEWE | VXTIV R4.7.13 F X N 120 120 R4.9.7
HEEWE | VXTIV R4.6.7 F X N 62.8 63 R4.8.13
HEFEHE| VX /T~ R4.8.7 F X g H 18.1 18 R5.2.10
HEFEHE| VX /T~ R4.8.11 F X 1.44 71.9 73 R5.2.19
HEEWE | VXTIV R4.8.21 F X N 53.1 53 R5.2.13
HEEWE | VXTIV R4.9.13 F X N 58.1 58 R5.2.14
HEFEHE| VX /T~ R4.8.29 F X g H 91.7 92 R5.2.20
HEFEHE| VX /T~ R4.8.25 A X g H 53.9 54 R5.2.14
BHET A/ R4.5.15 #F R N 44 44 R4.8.10
BHET A/ R4.12.14 #F R N 159 160 R5.2.17
BHET il A5 R4.6.17 X X g H & & R4.8.10
BHET il A5 R4.10.14 F R g H 13.5 14 R5.2.16
BHET V=AY Ad R4.7.12 F X N 52.3 52 R4.8.12
A aaAs A/ R4.7.4 #A R N 177 180 R5.2.10
L] R H R4.7.8 F R g H 50.3 50 R5.2.10
J3Z A A4/ R4.8.12 F X g H 65.6 66 R5.2.10
ABAOAT A/ R4.10.27 #A R N 164 160 R5.2.16
ABA0AT V=AY Ad R4.8.2 XX N 12.4 12 R5.2.10
RET il A5 R4.10.20 | # X g H 8.82 8.8 R5.2.17
RET V= Ay Ry A4 R4.6.14 X X g H 42.4 42 R4.8.8
AES V=AY Ad R4.7.5 XX N 115 120 R5.2.21
AES V=AY Ad R4.6.7 F X 2.66 104 110 R5.2.16
KHET A4/ R4.7.27 XX g H 10.4 10 R5.2.9
KHE™ A4/ R4.11.18 A X g H & & R5.2.17
HAEYTH A/ R4.7.3 XX N 146 150 R5.2.10
HAEYTH il N5 R4.7.18 XX N 112 110 R5.2.20
AEYHm | VYx/ T~ R4.5.7 F R 17.3 678 700 R4.8.6
AEYm | VYx/ T~ R4.6.20 XX 2.89 110 110 R4.9.5
AEYTH | VX /T R4.6.22 F X N 197 200 R4.8.12
AEYH | VX /T R4.5.15 A R 20.4 712 730 R4.8.12
AEYm | VYx/TI~ R4.7.12 F X 10.7 349 360 R4.8.12
AEYm | VYx/TI~ R4.6.3 F X 17 589 610 R4.8.12
AEYH | VX /T R4.6.27 XX N 332 330 R4.8.12
AEYH | VX /T R4.7.12 F X N 200 200 R4.8.13
AEYm | VYx/TI~ R4.6.3 F X g H 285 290 R4.8.13
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